光學作業 應物三甲 0932374 張硯筑
Problem 9-15
a. Show that the fringe visibility may be expressed by 
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b. What irradiance ratio of the interfering beams reduces the fringe visibility by 10% of that for equal-amplitude beams?
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b. 
[image: image5.wmf]2

1

aI

I

=



[image: image6.wmf](

)

(

)

2

1

2

1

2

I

I

I

I

V

+

=

t

g



[image: image7.wmf](

)

(

)

(

)

1

2

2

9

.

0

2

2

2

1

2

1

+

=

+

=

a

I

a

I

I

I

I

I

t

g



[image: image8.wmf](

)

(

)

(

)

1

2

2

9

.

0

2

2

2

1

2

1

+

=

+

=

a

I

a

I

I

I

I

I

t

g



[image: image9.wmf]392

.

0

55

.

2

·

=

a


_1235246303.unknown

_1235246638.unknown

_1235247131.unknown

_1235247156.unknown

_1235247055.unknown

_1235246374.unknown

_1235245796.unknown

_1235245930.unknown

_1235245777.unknown

